1 mark

S

1 mark

— of 500 =

1 mark




2— x 10 =

1 mark

1— %X 60

1 mark

X 440

®|w

1 mark




3 .
- =3 =
7
1 mark
3
— =4 =
4
1 mark
)
- =2 =
6

1 mark




10 1— X 53

1 mark

n There are 261 students in a school.

3 of the students are going on a school trip.

How many students are not going on the trip?

Show
Your
method

students

m Nick works for 7% hours a day.

Nick works 195 days a year.

How many hours does Nick work in a year?

Show
Your
method

hours

2 marks

2 marks




	Slide 1
	Slide 2
	Slide 3
	Slide 4

